CodeNo. | R — 2095

Entrance Examination for Admission to the P.G. Courses in the
Teaching Departments, 2023

CSS
RUSSIAN LANGUAGE AND LITERATURE

General Instructions

1. The Question Paper is having 100 Objective Questions, each carrying one mark.
2. The answers are to be (v) ‘tick marked’ only in the “Response Sheet” provided.

3. Negative marking : 0.25 marks will be deducted for each wrong answer .

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

Choose appropriate answer from the options in the questions.
(100 x 1 = 100 marks)

1. Mark the gender of the word «TBO&»

a) masculine

O

neuter

O

)
) feminine
)

o

common



2. Mark the gender of the word «Koden:
a) masculine b) neuter

c) feminine d) common

3. «Kpacroe koneco» relates to the following gender
a) masculine b) neuter

c) feminine d) common
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10.

The word «aurmuuagunay belongs to which of the following gender?
a) masculine b) neuter

c) feminine d) common

Which sentence denotes feminine from
a) Yei sto cron? b)  Ysa 310 KOMHaTa?

C) Ysé aro kade? d) YsmosTO KOMA?

Choose the correct sentence:
a) OwHaBuzen 3Ty mKomy. b)  Omna Bugen sta wikona.

c) OuaBunena sty mxoimy. d) OnaBujena sta mKona.

Choose the correct sentence :
a) Kax 30ByT Bamero otua? b)  Kak 30ByT Bammy oTiy?

c) Kax 3oyt Bam oren? d) Kak 30ByT Batero orena?

Fill in the blanks with appropriate preposition given below «/Apy3bs moctaBum cBon

a) o b) =

c) ¢ d) Ha

Fill in the blanks with correct form of the word given below

«Moii rpyr Kynun ..., 6uner B Tearp.»

a) wMHe b)  mens

C) = d) wmHoi

Which one of the following is in genitive singular:
a) Moil noprdens b) Hammx noprdenei
C) Ham noprdens d) Hawero noprdens

3
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11.

12.

13.

14.

15.

16.

17.

Convert the sentence into perfective aspect
«Ona rosopuia MHe 06 3K3aMeHeE. »

a)
b

Ona roBopuia MeHst 00 3K3aMeHe.

OHa cka3an MHe 00 3K3aMeHe.

O

)
) Omna cka3sana MeHs 06 9Kk3ameHe.
)

d

Omna cka3zana MHe 00 3K3aMeHe.

Ko Hanucan pacckas «CMepTh 9uHOBHUKAY ?

a) JL.H.Tonscroit b)
c) C.A.Ecenun d)
Select the meaning of «3UMHHI»

a) Spring b)
c) Autumn d)

Kax 30ByT BHyu4Kka B « CTapslii e/l 1 BHydeK»?

a) Mama b)
C) Anéma d)
Third person plural of XoTeTs s

a) xoTuM b)
C)  xoTsT d)
CnoBo «ryryOb» 3HA4HUT.

a) Pigeon b)
c) Parrot d)

Which of the following sentences is correct
b)
d)

a) Mos mMama Joma.

C) 'V meHs Her Opar.

K.Cumonos

A.Il.Yexos

Summer
Winter

Mumma

Cama

XOTHUTC

XO04AT

Eagle
Crow

V MHE ecTh KapaHzal.

3TO HAIKU I0M.
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18.

19.

20.

21.

22.

23.

24.

Which of the following sentences is correct?
a)  Kaxas 9510 MOpe? b)  Kaxkoe cron B komHaTe?

C)  Tlouemy Bbl omo3zan? d)  Kaxas 310 KomHaTa?

Choose the correct preposition missing in the following sentence:
«Hararmma ezer --- TOpol.»

a) b)

° x d)

Choose the neuter noun from those given below
a) nauBaH b) xyxHs

C)  nepeso d)  nepesus

Which of the following words does not have declension
a) pamo b)  mope

C)  oxHO d) ouceMo

Choose the correct possessive pronoun missing in the following sentence:
«3T10 mozpyra --- 04EpH.»
a) Hamero b)  mameit

C) Hamemy d) wammmu

Choose the correct phrase missing in the following sentence:
«$1 moapmI1 HOBYIO py0alKy ---.»
a) cmoero apyra b)  ceoum mpyrom

C)  cBoeMy JpYyry d) cBoé&m mpyre

Choose the correct preposition missing in the sentence:
«ITpe3unent Poccuu no6naronapun MHauu --- HOANEPXKY.»
a) B b) 3a

C) Ha d) mocne
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25.

26.

27.

28.

29.

30.

31.

Which of the following phrases is correct
a)  ABa cECTphI b) ABe Kopabiis

c)  ABe pamuo d)  /BE XCHIIWHEI

Fill in the blanks with correct participle form in the sentence:

«Knura, --- cTyIeHTOM, MHE OYCHb HPAaBUTCH.»
a) YMTacMOM b) uwraromas

c) uuTaemas d) uMTaOWEM

Fill in the blanks with correct participle form in the sentence
«51 mobmo CTYIeHTa, --- IEKIHIO B 3aJI€.»

a ) YHTAEMOTO b ) YUTAKIIETO

C) YyHUTaeMBIH d) YUTAIOIIHHA

Choose the correct preposition missing in the sentence:

«3aBTPa MBI YEJIEM --- CBOEH MaTEpH.»
a) K b) B
c) or d) ¢

Choose the correct preposition missing in the sentence:

«BoauM mosTy49mI oJapoK --- HHOCTPAHHOTO JPYTa.»
a) B b) ot
c) Y d) m

Mark the gender of the word «aMa»
a) masculine b) feminine
c) neuter d) common

Which of the following is a correct form for the past tense of the verb «mous»?
a) mou b) mowa

C) Mors d) mor
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32.

33.

34.

35.

36.

37.

38.

39.

Which of the following is a correct conjugation of the verb «aars» For first person
singular?

a) JmaMm b) nay
C) mawo d) maxy

Choose the correct sentence
a) Hanexna noener B kuno B cy66oTy. b) Hanexna noexer B kuHO B cy66oTe.

c) Hapexnamoener B kuno Ha cy660oty. d)  Hanexna moener B xuno Ha cy66orte.

Choose the correct sentence
a) Onac AHTOHOM MOWIEN B IOKOJY. b) Onac AuToHOM NOIIIA B IIKOJTY.

c) OnHac AHTOHOM IOLLUIH B IIKOJY. d) Owac ArTOHOM momNO B WKONY.

Choose the correct sentence

a) Ceromns Huna Het Ha ypoke. b) Ceroans Hune Het Ha ypoxe.

c)  Ceroans Humy Her Ha ypoxe. d) Ceronus Hunsl Her Ha ypoke.

Which of the following verbs is of perfective aspect?
a) nrobuTH b)  momgats

C) Moub d) moxomuts

Which of the following verbs is of imperfective aspect?
a) TONOXHTH b) npuroroButs

C)  BHICTYHaTh d)  noiitu

Which of the following sentences is correct?
a) VY Hamero coceaa Tpu cobaxa. b) V mamero cocena Tpu cobakm.

C) VY Hamero cocena Tpu cobak. d) VY mamero cocema Tpu co6akos.

Which of the following sentences is correct?
a) Hacraguoune Muoro cnporcmen. b) Ha cramsoHe MHOroO CIPOTCMEHOB.

c) Ha crammone muoro cnporcMensl. d) Hacragmone MHoro ciporcmena.
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40.

41.

42.

43.

44,

45.

46.

Choose the correct phrase missing in the sentence:
«Moii Mnagmuii 6par ZOCTUT B CLIOPTE ---.»

a) 6oabwmIOM ycmexom b) Gonbmux ycnexos

c) 6onsmoii ycnex d) Gonpmme ycnexu

Which of the following sentences is correct?
a) B ero koMHare 1Ba OKHa. b) B ero xomuare 1Be okHa.

C) B ero xomHare /Ba OKHH. d) B ero xomHare OBe OKHH.

Which of the following sentences is correct?
a) Y MeHs ceromHs HET ypoKa. b) VY Mensa ceroans HeT ypok.

Cc) Y MHE CeroiHs HET ypoKa. d) VY MHe ceromHs HeT ypoK.

Choose the correct phrase missing in the sentences:

«BeI coobmunm 06 3x3amMene ---7»
a) CBOMX poauTesei b)  cBou poaurenn

C)  CBOMM POIHMTENAM d) cBoero poaurens

Which of the following sentences is not correct?

a) Camblii ny4mmii acMUpPaHT HALIErO YHABEPCHTETA TaM.

O

Camoro JydIlero acnipaHTa Halllero YHUBEPCUTETA HET TaM.

O

) CaMpIX Ty4nmx acIMpaHTOB HAILEr0 yHUBEPCHTETA HET TaM.

o

Camp1if JTy9mmii aciipaHT HAalIETo YHHBEPCHTETA HET TaM.

Choose the correct phrase missing in the sentence:
«HaM ogeHs moHpaBUIacCk CTATHA ---.»
a)  PpyccKoro nucarens b) PYCCKHH MHCATENb

C) DpYCCKOMY IHCATENo d) pycckum mucareneM

Choose the sentence with perfective aspect of verb.
a) AHHa MOJy4alo mUCKMO OT GparTa. b) AHHa Hanucal mECHMO Gpary.

c) AHHa uuTan muceMo 6pary. d) AHHa nucan nuceMo Gpary.
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47.

48.

49.

50.

51.

52.

Choose the correct prefix of the verb of motion in the sentence:

«Koraa Mb1 moo6Geamy, MuI ---IITH Ha YpPOK.»

a) mo b) Bum

C) nmo d ) non

Choose the correct prefix of the verb of motion in the sentence:

«MBI ---1IUTH B KJIACC M CeNM HAa CBOM MecTa.»
a) BH b)  mo

C) ot d) o

Choose the correct prefix of the verb of motion in the sentence:

«Mouozto#t Bpay yxe ---exai u3 ropoja.»
a) Bo b) or

c) vy d) o060

Choose the correct prefix of the verb of motion in the sentence:

«Mowu yachl CIIOMAJIMCh, H 1 ---HEC UX B MacTepCKyH.»

a) BO b) oT

C) mo d) nox

Choose the correct prefix of the verb of motion in the sentence:

«51 ---B&11 €€ o ocraHoBKa aBTOOYCA. »
a) Bo b) or

C) 1o d) 1o

Choose the correct verb of motion in the sentence:

«EXeIHEBHO CTYNCHTHI --- Y4eOHHKY U TETPaj M Ha YPOK.»
a) mpmHOCAT b)  npuxonst

C) npueavr d) mpaxyT
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53.

54.

95.

56.

57.

58.

59.

Choose the correct prefix of the verb of motion in the sentence:
«Kaxnp1ii Mecall K HaM ---I€TaloT pyccKHe nucarend u33 Poccun.»

a) Bo b) or

c) npu d) o

Choose the correct prefix of the verb of motion in the sentence:
«3aBTpa BHI ---€ETE 3@ TOPOJL.»

a) mo b) or

C) npu d) 1o

Choose the correct preposition missing in the sentence:

«OH cTOHT --- BEpH.»
a) mo b)  okono

C) B d) o

Choose the correct preposition missing in the sentence:
«B aBrycre AHTOH yreTur --- ITapmx.»

a) or b)  oxono

C) =B d) no

Choose the perfective aspect of the verb «XIacTs »
a)  NOJOKHUTH b)  mocrasuts

C) 1neus d) noxursca

Choose the imperative form of the verb «aaBatb»

a) nai b)  naiite
C) nats d) nasaif

Complete the sentence using the form of
«Emy moHpasuiics pomaH, --- Harama nogapuna emy.»
a) Kkortopas b)  xotopywo

C)  KOTOpbIi d) xotopsle
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60.

61.

62.

63.

64.

65.

66.

Fill in the blanks with appropriate numeral given below:
«B MHCTHTYTE --- CTyIeHTKH. »
a) JBECTH JIBA b) JBECTH NATL

C) MBECTH TpH d) aBectu ommn

Select the singular form of «aeTa»
a)  zem b)  nera
C) pebénxa d) pe6énok

Fill in the blank with correct form of “XKOTOpBI»
«Mawma Buzena CTyI€HTKY, --- Cjajia 3K3aMeH OTIHYHO.»
a)  KoTopas b) xotopyrwo

C)  KoTopoii d) xoropsii

Select the perfective aspect of the verb «CaAHTEC»
a) cecth b) ects

C) camaTbca d) cuzers

Fill in the blanks with the appropriate form of the adjective:

«Y Bac ecTb --- pyuka?»
a)  KpacHbIH b)  xpacHas

C)  KpacHoe d) xpacHsle

Complete the sentence:
«=-== 370 OPIOKH?»
a)  Kakoit b) kakas

C)  kakoe d) xakue

Complete the sentence:
«=-=- 3TO JAeAyIKa?»
a) ueit b)  upx

C) upé d) upm

11 R -2095



67.

68.

69.

70.

71.

72.

73.

The phrase «TpeThH 3Tax» in English means:

a)
c)

Complete the sentence using the correct form of the word «A¥Bam»

second floor
ground floor

«TeTpajb JICKHUT Ha ---.»

a)
c)

JHUBaH

JAHBaHa

b)
d)

b)
d)

first floor
third floor

JHBaHE

JHBaHC

Complete the sentence with an appropriate interrogative word:

«--- Ha PycH »uTb X0pomo?»

a)
c)

Kto
Komy

b)
d)

Koro

O xoMm

Complete the sentence choosing the correct form of the noun

«CecTpa 9acTO pacCcKasbIBAET O ...»

a)
c)

H3Hb B YHUBEPCHTETE

KHU3HH B YHUBEPCUTECTEC

b)
d)

’KH3HE B YHUBEPCUTETE

XW3HY B YHUBEPCUTETE

Complete the sentence using the correct form of the adjective given below:

«Hapem uHorna 9mMrTaeT ... .»

a)
c)

pyccKue mucartennu

PYCCKHX IucaTelnei

b)
d)

Choose the gender of the word «Myzei»

a)
c)

masculine
feminine

b)
d)

pyccKuil mucaresb

pyccKas nmucaTciib

neuter
common

Complete the sentence choosing the correct form of the verb

«Mog nanad v TETH. .. Ha 3aBOJIE. »

a)
c)

pabortaet

paboTaeM

12

b)
d)

paboTator

paboTtaere
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74.

75.

76.

77.

78.

79.

Complete the sentence choosing the appropriate pro-noun.
«3JTO0 MOA pybaIlKa. ... JeXUT Ha KpoBare.»
a) om b) ona

C) oHO d) onu

Choose the correct Russian translation of the given sentence:
“They got acquainted in England”.
a) OHM n03HAKOMHIMCEH B AHIIIHH. b) Oun no3nakoMuauce Ha AHrHA.

c) Ouu no3HaKOMWIHCH B AHrIHS. d) OHu no3HakOMHIUCE B AHIIHIO.

Choose the correct sentence
a) HpaBuTtscs i BaM 3TOT yuéHbIiH? b)  Hpasurcs 1u BaM 310 yuéHBIiA?

c) Hpasuthbcs i BaM 310 y4éHBIH? d) HpaBuTtcs ;m Bam 10T y4éHBIiH?

Ko sBnsieTcs aBTopoM npoussenenus « Tpyc»?

a) A.IlLYexos. b) K.Cumonor
c) C.A.Ecenun d) JI Mautiees

Fill in the blanks with the most appropriate pronoun:
«Bot TamM ... ay IUTOPHS. »
a) Ham b) nama

C) Hame d) wsamm

Choose the correct Russian translation of the given sentence:

“They went to the park on Saturday”.
a) OHu e31um B napk B cybborty. b) OHu mm B napk B cyb6orTy.

c) Oun exanu B mapx B cy66oty. d) Ony e3nunu B napke B cy660Ty.
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80.

81.

82.

83.

84.

85.

86.

Complete the sentence using the appropriate word given in the brackets
«Y 5TOro MOJIOZIOrO YeIoBeKa HeT ... .y
a) cwiH b) chbHa

C)  CHIHOBBA d) chme

Choose the correct Russian word for the English word ‘meeting’.
a)  BbICTaBKa b) kumo

c) coOpanue d) crpana

Choose the Gender of the word «oxuan.»
a) masculine b) feminine

c) neuter d) none

Choose the Antonym of the word «3mno»
a) Kpai b) pa#
C) an d) mo6po

What is the meaning of the Russian word «Kpectbsaun»?
a) Christian b) Peasant
c) Christ d) Christianity

Choose the Antonym of the word «mioxoi»
a)  Xopommii b) mononoii

C)  Gonbuoi d) senéusii

Complete the sentence using the correct word given below.
«Buepa Harama nonmy4uia naceMo, .... e€ oren; mocsan u3 CIIA.»
a)  KoTopsIi b)  xoroporo

C) Koropoe d) koropas
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87.

88.

89.

90.

91.

92.

93.

Choose the sentence which is incorrect?
a)  Tol Bugena 3toT aoM? b) Tl Bumena sToro noma?

c) T Bugenu stor nom? d) Tsi Bugena sto gom?

«CKaxure, moXxanyucra, ... CEroJHsa YACIO0.»

a)  kakoi b)  xaxas

C) Kakoe d) xakue

Translate the sentence «MpHue xouercs OTOBIXaTE» intO Eng'ISh
a) |feel happy b) | feel headache
c) |feel sad d) | want to take rest

Choose the appropriate form of the word to complete the sentence
«Hamm ctyaenTs! xomum ... .»

a) B BHICTaBKa b) B BbICTaBKY

C) HaBBICTaBKe d) HaBBICTaBKY

Complete the sentence

«MezcecTpa HONOXKUN ACHBTH ... .»

a) B KapMaHe b) naxapmane

c) BKkapmaH d) Hakapmane

Insert verb of the appropriate aspect.
«O6BIMHO HAIll MATEMATHK AKKYPATHO ... HA TTHCEMO.»
a) orBeyath b)  orBeruts

C) orBeyan d) orsetun

What is the gender of the word «Myxunsay?
a) masculine b) feminine
c) neutral d) none
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94.

95.

96.

97.

98.

99.

100.

« TpHCT a ACBAHOCTO IIECTh» 3HAYHT.
a) 3906 b) 396
c) 3196 d) 397

... CIIYIIIAJIH BYEpa CTYACHTEI BAILICTO YHHBCpCHTCTa?
a) Kyna b)  Koro

c) Korza d) Kakoit

IIIKOBHUK ... 6BUT YATATh 3TY KHATY CAMOCTOSTENBHO.
a) HOoIKeH b)  nomxua

C) HOMKHO d)  nomKHBI

Y ... My3bIKaTHa €CTh KpacHas py4Ka.

a) osroro b) sror

C) sroit d) osrtom

C ... yuuTeNneM BBl pa3sroBapUBAIH ceiiuac?
a)  Kakoii b) xakom

C) kakas d) xakumu

«4 31210 Bpaua, ... yuuics B JIeHuHrpazae.»
a)  KOTOpbI# b)  xoroporo

C)  KoOTopoit d) xoropomy

«ITy KHUTY HAMMHCATH ... YUEHBIE. »
a) uHamickui b)  wAmmiickas

C)  wuHaMiicKOe d) wunmmiickue

16
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